(Stalwart@

ATV/UTV Trailer Ramp Instruction Manual

ASSEMBLY:

INCLUDES:

2 Ramps

2 Plates

8 Sets M8x20 bolts, M8 nuts, Flat
Washers and Split Washers

8 Sets M4x12 bolts and M4 Nuts
4pcs metal buckle of handle
2pcs plastic handle

= Fit the plate to top end of the ramp using 4 x bolt(M8), split washer and nut(M8). Ensuring the plate is

attached to the underside of the ramp.
= Tighten nuts and bolts securely before use.

=  Fit a steel cover with two screw and nuts (M4), insert plastic handle into steel cover.
= Then put steel cover on the other side of plastic handle, tight steel cover with two screw and nuts(M4).

Bolt! MM;E

Ramp A =|

Plate
Flat washer -
Split washer S
Nut(ms) =

Balt(M4)
Nut{Ma)

P

Vplat fitted correctly
to the under side
of the ramp

X




HOW TO USE:

Check for damage before each use and that all nuts and bolts are secure.

Do not use if damaged. Tighten nuts and bolts if necessary.

Do not load machines with the engine running. Always ensure engines are off and are allowed to cool
before loading.

Load slowly. Do not allow weight to bounce onto the ramps as this may cause the ramps to bend, causing
damage or injury.

Ensure that the lower plate is in firm contact with the ground and that the upper plate is laid flat against the
trailer surface.

The ramps can be bolted together to form wider ramp surface (Fixings not included.)

WARING:

Ensure that there are no people or animals beneath the ramp or trailer during loading

Ensure that the work area is clear from obstructions before commencing loading

Keep children, bystander and pets away from the work area when loading.

Avoid loading alone in case of accidents.

Wear appropriate work boots, gloves and HI-VIS clothing.

Do not wear loose jewelry or clothing and ensure that long hair is tied back to prevent contact with moving
parts.

Wear eye and ear protection.

Ensure a firm footing at all times.

Ensure there is adequate light when loading.

Maximum weight load limit 600lbs per ramp. (based on a static load.)

Do not exceed the maximum weight load limit when using either one or both ramps.

Be alert at all times, do not use when under the influence of alcohol or drugs which may impair perspective
and reaction.

Use only on flat, firm, stable ground.

CLEANING:

Clean after use. Brush clean and wipe with a damp cloth.
Ensure both ramps are clean before use. Any mud, oil or other substances on the ramp may cause loss of
grip when loading.

DISPOSAL:

Dispose of all paper, cartons and plastic in accordance with your local recycling regulations. At the end of
the product’s lifespan please dispose of it at an authorized household waste recycling center.

Questions or Concerns? Visit Stalwartproducts.com



